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In the span of 18 months, Isaac Newton invented calculus, constructed a theory

of optics, explained how gravity works and discovered his laws of motion. As a result,
1665 and the early months of 1666 are termed his miracle year. It was a sustained
sprint of intellectual achievement that no one thought could ever be equalled. But in a
span of a few years just before 1900, it all began to unravel. One phenomenon after
another was discovered which could not be explained by the laws of classical physics.
The theories of Newton, and of James Clerk Maxwell ,who_}fr})‘llowed‘him in the mid-
19th century by crafting a more comprehensive account (')Vf-'Aelec.tromagnetism, were in
trouble.

Then, in 1905, a young patent clerk named Albert Einstein found the way
forward. In five remarkable papers, he showed that atoms are real (it was still
controversial at the time) , presented his special theory of relativity, and put quantum
theory on its feet. It was a different achievement from Newton’s year, but Einstein’s
miracle year was no less remarkable. He did not, like Newton, have to invent entirely
new forms of mathematics. However, he had to revise notions of space and time
fundamentally. And unlike Newton, who did not publish his results for nearly 20
years, so obsessed was he with secrecy and working out the details, Einstein released
_his papers one after another, as a fusillade of ideas.

For Einstein, it was just a beginning—he would go on to create the general
theory of relativity and to pioneer quantum mechanics. While Newton came up with
one system for explaining the world, Einstein thus came up with two. Unfortunately,
his discoveries—relativity and quantum theory—contradict one another. Both cannot
be true everywhere, although both are remarkably accurate in their respective domains
of the very large and the very small. Einstein would spend the last years of his life
attempting to reconcile the two theories, and failing. But then, no one else has
succeeded in fixing the problems either, and Einstein was perhaps the one who saw
them most clearly.

1. The one and a half years between 1665 and 1666 are termed Newlon’s miracle year
because

A) he was regarded as a genius

B) he found a new theory

C) no one could equal him

wif s



3:

D) he made a series of great discoverics
Which of the following is NOT true?
A) Newton’s theories were questioned at the end of 19th century.

B) ‘Newton’s theories were revised by Maxwell.

C) Newton’s theories proved to be imperfect.

,9‘) Einstein’s miracle year was very remarkable.

Irom the passage we know that

A) Newton hesitated to publish his results

B) Newton changed people’s concept of time and space
C) Einstein published his paper in rapid sequence

D) Einstein was eager to hear comments on his theories
The biggest challenge for Einstein was .

A) to make theory of relativity and quantum theory in agreement with each other
B) to explain his profound theories in a plain way

C) that neither of his theories was true

D) that both of his theories were accurate

The passage is mainly about

A) what Albert Einstein really did in science

B) the differences between the two geniuses

C) how science is progressing

D) there is no absolute truth in science
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(CNN)—An Anglo-French project, Concorde entered service in 1976, the
world’s only supersonic passenger aircraft.

It was trumpeted as a new age in world travel as two of the sleek planes arrived in
New York and drew up to kiss noses on the Tarmac.

Crossing the Atlantic in three hours at 1,370 miles per hour—twice the speed of
sound—passengers from Europe could beat the time difference and arrive earlier than
they took off.

Although quite cramped inside, Concorde became synonymous with champagne
travel, a status symbol for the rich and famous.

It was developed throughout the 1960s by British and French aerospace
engineers, using a revolutionary dart-shaped design. X

The first Concorde, the 001, was rolled out in 1967, but it took two more years
of testing and fine-tuning its powerful engines before it made its maiden flight on
March 2, 1969, over France.

Only 20 were ever built, although the original plan was for 300.

In 1972, the plane’s future looked bright. More than a dozen airlines had placed
orders and the French and British governments expected to recoup their $ 3.5 billion
development costs.

But a year later, the Arab oil embargo prompted a steep rise in fuel prices and
the thirsty Concorde looked less appealing. Prospective buyers dropped out.

The world’s desire to go supersonic was surpassed by the reality of subsonic flight
in planes able to carry more people more cheaply, like the Boeing 747, or “jumbo
jet” , which first flew for PANAM in 1970.

Eventually, the British and French governments were forced to write off the cost

of Concorde’s production and virtually give the plane to British Airways and Air

. G



France.

Heathrow and Charles de Gaulle in Paris to New York’s'JFK.

For 24 years Concorde had a perfect safety récord?, with services fr

Before its inaugural flight in 1976, Concorde had 5,000 hours of testing, making

it the most vetted aircraft in history. A test pilot sent by the U.S. government said it

“could be the safest airplane ever built”.

But the July 2 000 crash near Paris’s Charles de Gaulle airport which killed 113

people was the beginning of the end.

Services were withdrawn until November 2001, but confidence among passengers

was never fully restored. And the downturn in the airline industry, which had started

before the September 11 attacks, made Concorde an expense its operators could not

afford.

1:

By “champagne travel”, the author means
A) taking Concorde is an expensive and famous travel
B) a fast and safe travel

C) a more comfortable travel

D) a travel to success

2. The word “recoup” (Line 2, Para. 8) most probably means

A) cut down g}\ invest
C) gain back D) withdraw

. The would-be buyers of Concorde dropped out because

A) oil price rose greatly in 1973

E}\ the July 2000 crash alarmed them

C) they were still worried about the safety of it

D) it looked less attractive in appearance

It can be inferred that the biggest disadvantage of Concorde is
A) its reliability

_@ its enormous consumption of fuel

% its huge development cost

D) its vulnerability to terrorists’ attacks

- Which of the following is the most appropriate title of the passage?

A) Concorde and Boeing 747

B) The Fastest Passenger Flight
_C) The Rise and Fall of Concorde
D) The Failure of Concorde
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The orthodox view of human handedness is that it is connected to the bilateral
specialization of the brain that has concentrated language-processing functions on the
left side of that organ. Because, long ago in the evolutionary past, an ancestor of
humans ( and all other vertebrate animals) underwent a contortion that twisted its
head around 180° relative to its body, the left side of the brain controls the right side
of the body, and vice versa. In humans, the left brain (and thus the right body) is
usually dominant. And on average, left-handers are smaller and lighter than right-
handers. That should put them at an evolutionary disadvantage. Sporting advantage
notwithstanding, therefore, the existence of left-handedness poses a problem for

biologists. But Charlotte Faurie and Michel Raymond, of the University of Montpellier
.8 -



II, in France, think they know the answer. As they ‘repon in the
Royal Society, there is a clue in the advantage seen in boxing.

As any schoolboy could tell you, winning fights enhances your status. If,
prehistory, this translated into increased reproductive success, it might have been
enough to maintain a certain proportion of left-handers in the population, by balancing
the costs of being left-handed with the advantages gained in fighting. If that is true,
then there will be a higher proportion of left-handers in societies with higher levels of
violence, since the advantages of being left-handed will be enhanced in such
societies. Dr. Faurie and Dr. Raymond set out to test this hypothesis.

Fighting in modern societies often involves the use of technology, notably
firearms, that is unlikely to give any advantage to left-handers. So Dr. Faurie and
Dr. Raymond decided to confine their investigation to the proportion of left-handers
and the level of violence (by number of homicides) in traditional societies.

By trawling the literature, checking with police departments, and even going out
into the field and asking people, the two researchers found that the proportion of left-
handers in a traditional society is, indeed, correlated with its homicide rate. One of
the highest proportions of left-handers, for example, was found among the Yanomamo
of South America. Raiding and warfare are central to Yanomamo culture. The murder
rate is 4 per 1,000 inhabitants per year (compared with, for example, 0. 068 in New
York). And, according to Dr. Faurie and Dr. Raymond, 22.6% of Yanomamo are
left-handed. In contrast, Dioula-speaking people of Burkina Faso in West Africa are
virtual pacifists. There are only 0. 013 murders per 1,000 inhabitants among them
and only 3.4% of the population is left-handed.

While there is no suggestion that left-handed people are more violent than the
right-handed, it looks as though they are more successfully violent. Perhaps that helps
to explain the double meaning of the word “sinister”.

1. The bilateral specialization of the brain was :
A) caused by a physical twist in evolutionary history
B) the result of human habits
C) required by existence
D) simplified by traditional scientists
2. According to the hypothesis of the two French biologists,
A) left-handedness puts people at a disadvantage in survival
B) Tevels of violence in societies correlate with the proportion of left-handers

C) left-handedness is the result of frequent wars
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